5?:“ 3-Digit Number by a
1-Digit Number
. o)

Multiply $5.82and 4. P 5582 Multiply 4 ones and 2 ones to get 8 ones.
$5.82x4=7¢ X

Find the producr.

Write the 8.

$5.82 Multiply 4 ones and 8 tens to get 32 tens.
4 Rename 32 tens as 3 hundreds 2 tens.
28  Write the 2 in the tens place. Write the
3 above the 5 in the hundreds place.

§5.82  Multiply 4 ones and 5 hundreds to get 20
» 4 hundreds. Add 20 hundreds and 3 hundreds
$23.28  toget 23 hundreds. Write the 23,

The product of $5.82 and 4 is $23.28.
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Sometmes you havetro P 1. 321 2o HRS 3. 670 4., 86l
rename in a different X & ¥ 3 x 4 X.. B
place.

Find each product.
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